4 3 ‘ ? |
(::) 20 BY - . a TE Connectivity Lid. company. All Rights Reserved. ‘ REVISITONS
p LTR DESCRIPTION DATE DWN APVD
5| B FCR-15-013759 215EF | DW | CW
— = B FCR-16-011988 24A062016 | YC | CW
B? ECR-18-017123 21DEC2018 | KW cw
C FCR-21-106515 08JUL2021 | SO | CW
0 ®)
o
[a®)
NOTES:
| . TECHNICAL CHARACTERISTICS:
TYPE |, T2040062201-000, WITH LOGO INSULATION MATERIAL: PC
24 | T2040062201-000,%L0GO RATED VOLTAGE: 500V
oX M3 SCREW,RECOMMENDED ’ ’ RATED CURRENT: |6A
TIGHTENING TORQUE 0. 5Nm INSULATION RESISTANCE: >=400MQ)
6X M3IRL, #HRAZ0 . SNm RATED IMPULSE VOLTAGE: 6KV
I ‘ 4X M3 SCREW,RECOMMENDED S Ef;bﬁlé?ﬁ‘gggREE§4§fo
TIGHTENING TORQUE 0O.5Nm .
AY M3BZ #2$E450 SNm MATING CYCLES: 500 CYCLES
Lo ’ WIRE RANGE: O0.5mm2~2.5mm2 (AWG20-AWGI 4)
: 11l — CONTACT TYPE: SCREW CLAMP (M3)
3 L] [ ] o«
M4 SCREW,RECOMMENDED | o) e
TIGHTENING TORQUE | .2Nm ™ ‘_'&ﬁ%ﬁ:
' r M4 g« ,?@a?%ﬁ%%77%ﬁ\ . 2Nm it - PC
Hrek: 500V
Hram: | 6A o
wgwlE - >-400M
S 35 - BABE T BKV
ER%Eg 3
EsEgk . UL94V-0
8 § v [ D S, A BB 500 %
L AJ ] #4%E: 0. 5mm2~2. 5mm2 (AWG20-AWG I 4)
@@@@ . ! _ BHAA - BuEHE (M3)
_ S 4o
~ SENASS =
DHOHE i L
" 4%
€ T 1
| 44 - L_ 44
PANEL CUT FOR [INSERTS FOR USE
WITHOUT HOODS/ HOUSINGS
T{t RS 49 51 A0 4o 0 5 T3
THIS DRAWING 1S A CONTROLLED DOCUMENT. |DWN 05APR2015
CH%INO TAQ 05APR?207T5 ) TE TE CON\@CMVHy
PIMENSTONS: OTTHOELREWRIASNECESSPEUCNILFEISESD: AP%DHRIS WANOG5APR20W5 NAME
mm XTANG XU HE-006-F
0 PLC +- PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNgtég +- . 11 477w 3470 414 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH ] WEIGHT - A300779©‘:T2040062201000
- - CUSTOMER DRAWING SME P s Y e

1470-19 (3/13)




fa 1
©20 BY . a TE Connectivity Lid. company. All Rights Reserved. ‘ REVISITONS
P LTR DESCRIPTION DATE DWN APVD
SEE SHEET |
NOTE :
ALL SPEC REFER TO TYPE |
iR
FaFaftsR TYPE |
[ ?;j ‘" ]
‘m‘ : ‘ m‘ ‘n\‘ r—
TIF
|
TYPE 3,T2049062201-000,WITHOUT
LASER TE LOGO
ZA 3, 72049062201 -000, 7##4L OGO
AN 9 ¢
F
(AN
2N
ENN
i NP
Ny
i
] € ¢
] o HE-006 FEMALE INSERT
12040062201-000 HE-006-F HE-006 58 TYPE 1
HE-006 FEMALE INSERT,WITHOUT LASER SIDE MARK
12040062201-001 HE-006-F HE-006 8 AILNEHRE TYPE 2
) ) ) HE-006 FEMALE INSERT,WITHOUT LOGO
12049062201-000 HE-006-F HE-006 88 £L0G0 TYPE 3
PART NUMBER PART DESCRIPTION TYPE
# 2 # % A
TYPE 2,T2040062201-001,WITHOUT LASER THIS DRAWING 1S A CONTROLLED DOCUMENT.\*Wt)\ o o OOAPREOTS =TE o
SIDE MARK CH(&EHRIS \/\/ANOGSAPREOH - onnectivity
A8 2,72040062201-00 1, A#ARERR PIMENSTONS: OTHERWISE SPECIFIED: | APYD 05APR20TS |Name
mm XTANG XU HE-006-F
0 PLC +- PRODUCT SPEC
@gggtg i 108-137044
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . 1,‘47,‘37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH ] WEIGHT - A300779©‘:T2040062201000
- - CUSTOMER DRAWING S o | C
1470-19 (3/13)




	Sheet 1
	Views
	new_view_1
	底部_3
	new_view_6
	top_9
	new_view_10
	right_11


	Sheet 2
	Views
	new_view_15
	new_view_16
	bottom_17
	top_18
	right_19
	new_view_20
	new_view_21
	top_22
	bottom_23
	right_24



